











































































































So far Use induction to design algorithms induction on n

contstructColor
a graph a tree

Induction on steps of ALG

P CH f is a

hold
DAY
holds property of ALG

Claim At any time in ALG for ey tree if
root has label K there are at last 2k nods
Pf Induction on step of ALC
Suppose at the t for any tree then are 7,2

bblnodes
in tree

Say at tin til we merge two trees T 12
By IH IT I 7 2kt 11217,2 2

Case 7 Ki Kz K K2
the new tree has 21414,219 Ite
Case 2 ki k z Kitt
new tree has7,21421 2.2 TDDE 214 1

label root
In both cases the new tree has 7,2 may ns.chs
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Run Kruskal on Cod Cen give same tree T
BC Kruskal only

For contradict uses the order

anotthecostcCTM8cCT1thrnifeceCTLmec
HiCtHecCgTgeccCTJs.c

GF

c'CT't dCT T is not OPT for c

Dikstra's ALG
shortest path to Pr shortestpath

STpwwo.ru is before v in Pv
Pr v u is shortest pathto a

Pw Ipa CCR Cbu

ofPua nm se Pv contradiction
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